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O d=2) 22 Y) 30,000 x1¥x12¢ = 360
O YHEIH| 425.730,0009x1/129x60%x25 = 42,573
O H7tEAH| 425,730,000¥x1/360Yx86%x14 = 14,239
03 SRA(R7|AHY) 2222 166,984 199,067 A32,083
[ AteEAtdA ]
O FI7|ALZ22 24 156,156
-85 99,662
A EARH 1,977,5704x2Ex128 = 47,462
7| SHRUIE 2,174,990¥x2Ex12¢ = 52,200
- d2Y 99,662,0009x1/12&8x50%x23] = 8,306
- A2 oHta 50,000x3Ex12E = 1,800
- HoigAll| 140,0009€x4Ex12E = 6,720
- NEERH| 60,000 x4EFx12E = 2,880
- EaY 3,600
- By A¢ 40,000x2Ex12% = 960
CBATE 20,000¥x11¥x12¢ = 2,640
- ARRIZR+Z(EAR) 16,572x10A|Ztx4Hx12E = 7,955
- ZRUARSY 16,5729x30A|2tx2Ex 128 = 11,932
- IR | 99,662,0009x1/360U*x86%x14Y = 3,334
- AR 99,662,000¥x1/12Ex60%x23| = 9,967
O=odzgEdz 99,662,000¥x4.5% = 4,485
O=RIHLEER 3,813
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CRCIEETY VLR IE T I CREE

— T

MY Y HeAY. e | oque | SRS 337

SRHLES = 99,662,000¥%3.43% 3,419
ke Reli=keik=] 3,418,400¥%11.52% 394
ongHg=s 99,662,000%%1.65% 1,645
OA{ES = 99,662,000%x0.888% 885
203 QREF2IH|

01 7|22 AR 2RI

[ Aot AtRia ]

O 7| H42FLF22IH| 3,300,000¥ 3,300
02  HEeIHHARRZIH|

[ Mot Atga ]

O G722 21| 40,0009%x38H 1,520
04 BEMBIYFR2IY|

[ Aot ArRIA ]

O BEM2IYR22IY|

(400,000%x122)+(5,000¥4x8Hx12¥H) 5,280

204 Z@auH

01 AUIYR4uA)

[ Aol ArRdA ]

OA MG AR LHAH| 150,000 x1&Hx128 1,800
02 A E ZH|

[ Aol AtRiA ]

ORIZExH| 43,980
-5= 250,000 18x12¢ = 3,000
62 175,0002x2%x 122 = 4,200
= 165,000 x58%x 12 = 9,900
-8~92 155,000 x58%x12% = 9,300
-4 17,580

- 25E0| 4 165,000 x7Ex12¥ = 13,860

- 2040|5t 155,000€x28x 128 = 3,720
03 EJYIEH|

[ AoteEAtdA

OELEHR A 26,880
-S7|Y SAL SR (Y 80,0002x12WHx12% = 11,520
-S| SAL SF2(HE) 30,000&x9EHx12¥ = 3,240
-Oj &k ZAMEE S22 80,000&x1¥x12% = 960
-HkEE S22l 80,000 x18x12¢ = 960
-FEEEY S84 80,000 x1¥Hx12¥ = 960
-QIF A S22 80,000 x1Hx12¢ 960
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O AIIIAl @EORE : J|Et JIE}
OHH1e ST @CIOAY 1 o2l GMSAIY : OIH2YL| @2 A4y
FE.EOH2E. FUAY BAMY MEMY. S |ouy (DRG] 23
U HYREHY S24 80,000¥x2EHx12¢ = 1,920
A | A YHY SR 80,000 x1¥x12¢ = 960
-Ciel=tsH|(HE) 50,000¥x9Hx12¢¥ = 5,400
stA(6)/ Aot - E 214,000 0 214,000
oflH| | 214,000 0 214,000
ll=1l=] 214,000 0 214,000
Of|H|H| 214,000 0 214,000
801 OfH[H| 214,000 0 214,000
01 ST 214,000 0 214,000
[ Aol AtRdA ]
Oofld]H| 214,000,000¥ = 214,000
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[ &otrEAIEA ]

© [ AROA @Z0FRE 8t
BT e ATHAY @T) HAAIY @MIBAIY | A& ALEZAY @2 : AlAHLRCH)
FE.EOH2E. FUAY BAMY MEMY. S |ouy (DRG] 23
& of
0| At 5,264,000 4,728,657 535,343
£ 1,749,000
i 715,000
- 2,800,000
4(6)/dotr-2 5,264,000 | 4,728,657 535,343
£ 1,749,000
- 2,800,000
T AEAY 5,264,000 4,728,657 535,343
£ 1,749,000
i 715,000
- 2,800,000
A S5 U ALINEALY 5,264,000 4,728,657 535,343
£ 1,749,000
i 715,000
- 2,800,000
A A HEEAY 250,000 1,745,000 | 1,495,000
401  A|l&H|2 2ol 250,000 1,745,000 | A 1,495,000
01 AlAH]| 248,930 1,743,930 | 21,495,000
[ &5t Atg A ]
O M2 O|8ZAHL=1.0km) 49,465,000 = 49,465
O ga79 S AHA2704, L=1km) 49,465,000 = 49,465
O 884 72150 40,000,000% = 40,000
O M4BT HY 205X (17H4) 30,000,000 %1744 = 30,000
O g4 £2AAE2Y7(7| 7U(ER])  40,000,0009x2704 = 80,000
03 Al E £ Y| 1,070 1,070 0
[ doteAtd A ]
O M5E O] d3At 49,465,000¥x1.08% = 535
O 2479 SH3A 49,465,000¥x1.08% = 535
AU EX 2| AEAY (= 2,214,000 283,657 1,930,343
£ 1,749,000
i 465,000
401  A|GH|ZRCHH| 2,214,000 283,657 1,930,343
£ 1,749,000
i 465,000
01 Al&H]| 1,414,000 283,657 1,130,343
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LT AR ST etoinle MAE BE O AN @MSAIR | AAHBHAA AR (= HEAIY) @ : AlLH 2y
FE.EOH2E. FUAY BAMY MEMY. S |ouy (DRG] 23
& of
O ALUEM A UMY (= AEAIY)  1,414,000,000¥ = 1,414,000
£ 1,117,000
i 297,000
02 Z2(H| 800,000 0 800,000
RECESIVEN
O AMLHEBAH LR MAA (2 HESALY) 800,000,000¥ = 800,000
==y 632,000
i 168,000
Y HM2E s ALIHZALY 2,800,000 2,700,000 100,000
- 2,800,000
401  A|l&H|2 2ol 2,800,000| 2,700,000 100,000
- 2,800,000
01 AlgH| 2,789,920 | 2,689,200 100,720
[ dotrAtg A ]
O & M2 4+2 AENZAY 2,789,920,000¥ = 2,789,920
o 2,789,920
03 NE=Lw ] 10,080 10,800 A720
[ &5t Atg A ]
O F& A28+ A& At 10,080,000& = 10,080
rin 10,080




